AJMAL NATIONAL TALENT SEARCH (ANTS) EXAMINATION - 2012
CLASS : VI

Time : 2 Hours / 319 § & 61 Full Marks / & 759 / (I 799 8 (25+25+25+25)=100

General Knowledge / A4 @I« / ALl @i

1. The Indian state that has only two districts is ...................
T SO eSO Jq STl SR ?
o (STl AP AFNE SIS TS ... |

(a) Tripura (b) Goa (c) Jharkhand (d) Sikkim
fasga ColIa BURRTE fofe
Ikl QIEl BIBEI i

2. Which one of the following countries has the largest population ?
TS Bl I (I (R SRl K 2
AT (IR N (P M SFALT] F R 2
(a) Brazil (b) Bangladesh (c) Indonesia (d) Pakistan
it Bl BRI BEE R A

3. The girl in the picture is associated with ...............
O B9 (RREGH! (FIFEL AT 157 Siow 2
RIS AT G ..o &g MR oW |

(a) Toy Products (b) Dairy Product (c) Cartoon Character (d) Beauty Product

[Tl AN YRGS S T vix@ Ty >t
(T qHETS S 6 vf@
4.  Find the next letter of the following series.
TS Bl I HRISTIEN 12 I97eor 5 2
DRI TR R G S — |
J, F, M, A, M, J, J, i
(a) J (b) A (c) S (d) O
5. is known as man's most useful tree.
........................... 51g (R AGIFSF AL IR (A |
......................... IR N[0 FBIRCS (A TRIEH SIS |
(a) walnut (b) teak (c) mango (d) coconut
IIAE / ST o / (T i) CIIRE WIBIE (G|
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6. The first city in India with an underground railway system is ............
SRS (I ARG FALT G991 (o1 ORI S (=M2eT 2
OIS (P FRAINCO 2N (VT FETERI §F [F 2
(a) Delhi (b) Kolkata (c) Bangaluru (d) Chennai
fued! TR AT | Qe CbaT2

7. Death by 'Guillotine' was very common in .................
“FPreEnfoas alal 2o T 2iEhs (FIF @S AR 2 oifeeT 2

R CE R GRS Oy S— (ORI I sy e |

(a) America (b) France (c) England (d) Russia
RlCISWASI[RIEE K PG qifear / i

8. Humayun, the second Mughal Emperor of India, died when he .........

RICIE R G I ITC U S ) S— |

[RSERS IR R TC TGRS O] S—— |

(a) was in Battle (b) suffered a heart attack
TS (=g R AEIFS JgF CRIRe

(c) was assassinated by his son (d) broke his neck after falling down the stairs
G AT ZO) 1 (=t fefxa s eIy #ifF tafeet

9. The people of which country have climbed Mount Everest the most ?
(I O EICE IR GelEa %j2o] SERe g 2
........................ TR (TR STB1E0S (XA TSIEE %07 IR T |

(a) India (b) Nepal (c) New Zealand (d) Australia
IORICNACIEIS) T ofeTeEre ST

10. In which famous book do we find the little men of Lilliput ?
I e g fy forfers{5s el NIRRT A #{18 2
(I =TS et e ferferss’cw ofE 2
(a) Treasure island (b) Alice in Wonderland (c) Gulliver's travels (d) Robinhood

11. The tales of 'Jatakas' arein ..............

O PIRAE <o T WO |
GO TS MR ..o |
(a) Hinduism (b) Islam (c) Buddhism (d) Jainism
et | Tl el 4 [ DGt (v 4 | G to ot | Cemaet

NB. : Q.6. =< (Arombha)
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12.

13.

14.

15.

16.

17.

(3)

PR R i S

BOTRET I T e

(a) Electric mail (b) Electronic mail (c) Elaborate mail (d) Easy mail
BETPUP (V2T BETRDNE (VT BIRCG (V2T / TSR (2T &fer (e

In the year 2011, '‘Dada Saheb Phalke' Award was awarded to .............
2011 55 W[ BIGRT TV [T G .o
2011 NS Al RS T TR RS .o

(a) Manna Dey (b) Shyam Benegal (c) Soumitra Chatterjee (d) Bhupen Hazarika
Al I (JETSIE CTfsa byibreT G RIS
G RIeTIfe

Which of the following lies both in India and Bangladesh ?
T (I OO I I TOHACS (R 2
OIS @R NI G qB ACIE IR e |

(a) Sundarban (b) Manas (c) Nandadevi (d) Nandan Kanan
ERGAR RIIEY pRed| T P
EERE BicK| A T I

The British museum where the wax models of Amitabh Bachchan and Kareena Kapur are kept
is named after ....................

36 frsfermre wifiers T Wi Fer FoRe afofe e e MafEre <11 =02 ?

o1 Frefemiar wfirere e @2 FiEel FIoE 2N TR T T o A S |
(a) Marie Tussand  (b) William Caxton (c) Maria Montessori (d) Samael Morse

Official residence of the Prime Minister of India is at ..................

ST LN I SR B 2

OO ALFIRIT LB SR (I 2

(a) Feroze Shah Road (b) 7 Race Course Road (c) Mahatma Gandhi Road  (d) Parliament Road
RS ISIRIENaI 7 (@ &5 @1 TR Sl (SIS AFAIEG @I
RS ¥R @© 7 @5 36 @S EREIR IR NG @

The first Musician to win the Bharat Ratna is ...............

(PG STHAOHEIE AL TS IF 57 B(AReT 2

CROTR &A1Y AT ALNORE ... |

(a) Ravi Shankar (b) M.S. Subulakshmi (c) Bismillah Khan (d) Lata Mangeskar
37 = @Y. @b, YGeTH] i@ 4= ol NEHPIR
BISI K| ¥, @3 YGeTR] [EEIECIRIC o] NEHRPI
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18. '104' service of State Government of Assam is meant for information regarding ............
IR 5 A1 2-TES 104 R 99 M K-S ] 2
SN AR 104 OF|1 75 951 &y T2 ] 2
(a) Employment (b) Health (c) Market (d) Train Service
Gifeel / Sl A G/ A (T ORI/ =T G

19. Apart from being observed as "Childrens' Day", 14" November is also observed as :
14 FeoFa i TrpTee! e 9 S o 5 =7 2ol «fier 11 =3 2

14 ToF Ry M1 RIS ... 2T “I1eT 41 27 |
(a) World Pneumonia Day (b) World Diabetes Day
ey eI = T wyerR et
Ty frSenfera Ty TG =T
(c) World Tourism Day (d) World Habitat Day
g oG ot g AT =t
fry sroey fr<=1 Ty APTRA W=t

20. You are standing in a queque and your number is 17 when counted from the beginning as well
as from the end. How many persons are in the queque ?
i T @Bl #1<T 4 (RIS (ERIFER 2R (O TP FFI17 =, (AR *FNOT (PR VR (R 2
O @b IR W AR @R (U (AF G EF T 17 R FIRABS FOG (P AR ?
(a) 17 (b) 33 (c) 34 (d) 35

21. The campaign launched by the Tourism Ministry to attract foreign tourists is ....................

o) oo e ST 2oy TaeE s afoas wws [z 2
Roet oG ME e IR T 6 TR 291 TS 34 ST ..o |

(a) Come India (b) Incredible India (c) See and Feel India (d) Visit India
CS Tl T OIS G T AIE e GRS T
TS 1l RCERIEACIEN] TS 7] @R T TS &
22, is a cold-blooded animal ?
.............................. Moot T A1/ ... AFT0 NGOG AT |
(a) Penguin (b) Whale (c) Otter (d) Tortoise
o fofmig T IR | oo

23. 'Aadha Lekha Dastabez' was wtitten by ....................
“HIKT @I ARIEST DI AT IS 2/ SALIETR] TS IHAPIR o |

(a) Bhupen Hazarika (b) Mamoni Roisom Goswami

GO ST/ G e N TN ORI/ S T ST
(c) Homen Borgohain (d) Hiren Qohain _

G IelRIf@s / @I q=eeRif@s RIE oT=IZ / R ColRIR

NB. : Q.21. I3 (Arombha)
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24. 'Baakar Putek' is a controversial Assamese movie which is based on the theme of ............
T oo’ efFe PR eibe Fee eome e 2
A P b RrefFe spilm = [Fer Tor Wil 2

(a) Superstition (b) Ghost (c) Cultural Myth (d) Rural Life

TR SCNACK) Ao w5l SIS GO
25. India's longest Railway Tunnelisin ...................

IR ICNIRICE N B S I— © SRS |

OIFCOT ALOH (T O ..o A0S |

(a) Goa (b) Assam (c) Jammu & Kashmir (d) Himachal Pradesh
ColIa T g o S festbeT efom
IRl A o @ IR fesbet eiom

General English

26. newspapers support the government, but most do not.
(a) All (b) some (c) no (d) most
27. You don't take sugarintea, .................... (add proper question tag )
(a) Don'tyou (b) isn'tit (c) doyou? (d) doyou not?
28. Itcosts ....coevviniinnnnl, much.
(a) so (b) too (c) very (d) all of them can be used
29. | will travel .................... world to find her.
(a) All (b) whole (c) the whole (d) the all
30. They were ........cccoeunnee. to leave the school when we arrived.
(a) Nearly (b) almost (c) about (d) all but
31. "You are good ................. nothing" , the mother shouted at the boy.
(a) at (b) on (c) for (d) with
32. Stop acting .......occevveeennn. a fool.
(a) like (b) as (c) nothingisrequired (d) for
33. "Courage"istoaman ..........cce....... "beauty" is to a woman.
(a) Like (b) as (c) but (d) at the same time

Create PDF files without this message by purchasing novaPDF printer (http://www.novapdf.com)



http://www.novapdf.com
http://www.novapdf.com

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44.

45.

46.

(6)

| asked my teacher whether | .................... Join the tutorial class.
(a) Would (b) can (c) could (d) will

It is admitted that he is the greatest leader. ( the passive form of this sentence will be ..)

(a) That he is the greatest leader is admitted. (b) He admits that he is the greatest leader.
(c) All admit that he is the greatest leader. (d) All admits that he is greatest leader

I, the dog for a walk because it was raining.

(a) Haven'ttaken (b) shall be taking (c) should take (d) didn't take
| have never .................... anybody as polite as Mrs. Agatha.
(a) Came by (b) come across (c) meet with (d) come along

o, my share of the room. You complete the rest.

(a) Painted (b) have painted (c) was painting (d) shall have painted
(VIVATS] o I A more time to finish the work.

(a) am having (b) have (c) had (d) was having
Father said he .................... on a trip to Srilanka.

(a) Is going (b) would go (c) will go (d) goes

I to Goa three times this year.

(a) Have been (b) have gone (c) went (d) was

If you get up early, you .................... time for homework.

(a) have (b) will have (c) got (d) would have
There may beas ................... as ten guests to the dinner.

(a) many (b) much (c) few (d) more.
Samrat is .......cceeeeennn. YOUNG ovvvvnieneeneennen. drive the car.

(a) notonly/but also (b) so/that

(c) enough/to (d) too/to

animals living in water are known as ......... (substitute one word for the bold italics)
(a) Amphibians (b) aquatic (c) oceanic (d) rainy

One who sacrifices his life for a cause is called a ................ (substitute one word for the bold
italics.

(a) Patriot (b) revolutionary (c) soldier (d) martyr
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(7)
Find out the word that is opposite in meaning to the word written in italics in the following two sentences

47. We must realize the futility of wars.
(a) usefulness (b) urgency (c) meaninglessness (d) stupidity

48. There are reports that many poor people abandon their children.
(a) Reject (b) keep (c) help (d) drive away

Find out the word that is similar in meaning to the word written in italics in the following two sentences

49. | asked him not to meddle in my affairs.
(a) enter (b) interfere (c) involve (d) entangle

50. We should always try to maintain and promote communal amity.
(a) understanding (b) harmony (c) friendship (d) welcome

General Maths / 3t sifehe / st sifere

51. CDI+V+C+IXisequalto ....ccocovvvveiiiniiiiiieeeen.
CDI+ V 4+ C + IXT AN o
CDI+ V +C+IX QT AN .o
(a) 506 (b) 401 (c) 415 (d) 516

52. The smallest 7 digit numberis .........cccocoiiiiiiiiinnnnne.

7 Bl ok 18 SIS T FTRATCE! oo
7 6 we f[Qf*ig S1aprsce (=6 A4 .............
(a) 1000000 (b) 1+ greatest 6 digitnumber
1+661 =S K8 JGI2ecE TleT =47
1+6 6 =1xe 912 >apisce IT AR
(c) 1111111 (d) either'a'or'b'
‘a' <l b

53. If 'a' & 'b' are two whole numbers, then commutative law is applicable to subtraction if and
only ..,
T 'a' I b YOI WS LR =F, (o el @ [y [y ey 21 3w................ |
T 'a' @32 'b' qfb TS A =W, R KRR @ RS o@ens 2@ I e |
(@) a>b (b) a#b (c) a=b (d) a<b
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54.

55.

56.

57.

58.

59.

(8)

Which least number must be subtracted from 13,601 to get a number exactly divisible by 87 ?
13,601 T #1q1 Jvon 5 72351 el e, [ersrretsr 87 (3 forey =9 2

13,601 (I o {5 71221 [Kenst weet Rz 87 7«1 ooy = 2

(a) 25 (b) 23 (c) 27 (d) 29

Which of the following is a prime number ?
ST (PINCGT (TR SRl 2
A A Cfers Ry 2
(a) 137 (b) 143 (c) 396 (d) botha &b
'a' o< 'b' T

'a' @38 'b' bR

The LCM of two numbers is 3718. Which of the following numbers cannot possibly be the HCF
of these numbers ?

WG AR 1AL, 3718 RCT &N (P! AT FSS A WG 1A% =K ?

G AL I 3718 e DA (I LG 46 Ay

(a) 13 (b) 26 (c) 143 (d) 104
Arayhas ......ccocoviiiinn. number of end points.
IR 2ATF TR I o QT |
AR eIRm AL |
(a) three (b) two (c) one (d) none

fofeer / for w6l / o a5l | @6 abrg 12 / @<fbe w1
Which of the following statements is false ?
OIS (FINCGT Bie STy
T @ f B ooy 2
(@) AB=BA (b) AB= BA (c) AB= BA (d) None

@ble 727 / @b 71

Instruments used to draw a pair of parallel lines are ......................
QIS STAIFET I DEET BIRLCT o Teyfet f&bicel TR 1 27 |
GPSTC] ST (G A ... g BN IRRT® =X |
(a) Protractor and scale (b) Compass and scale

CRINY A< (ReT PR F[E (R

CRIENTE @R (e PR @R (ReT
(c) Setsquare and scale (d) None

(6 CHIFR AE (& «Bre =T

b CRIFE @3 (& G387
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60. Measure of angle sAcD in the following figure is .........ccoocoviiiin.
oo W3l fbae ACD IR T ..
e e bra LACD IR N9 ...

(a) 130° (b) 120° (c) 150° (d) 115°

61. A quadrilateral is a rhombus but not a square if ....................ool.

G5! 5OGST THZ FF 51 TR, TM .o |

OFfb 5TGST TH Y T TH M |

(a) Its diagonals do not bisect each other (b) Its diagonals are not perpendicular
BT o 751 A T fafee =7 BT e MO 2] oTH 7=
&= 3 q&h oRrolR TEwfEe T3 &2 o b ST oT8 = Al

(c) Its opposite angles are not equal (d) The length of diagonals are not equal
RIS (PN I F=F B (GINERE R RICIEER]
3z oS (@leefl ST 73 1 3 Il W T =7 9l

62. Difference of sums of 998 and -486 and sum of 290 and 732 iS ......cecevevninen....
290 I 732 T 291 998 HF -486 T (56T B B o
290 @R 732 @< 998 (A -486 G NITFeF ﬁ'@'ﬁ‘?‘f P e

(a) -510 (b) 510 (c) -1022 (d) 512
5 3 1
o33 3
63 S92
188 188 13 13
=20 _=2° 3= 3>
(a) 56 (b) 56 (c) 56 (d) 56

1
64. How many one-fourths need to be added to 35 to make 7 ?

1
35 J S15TS TR AT @ oL (191 FRET 7 =K 2

1
3@ M I @F SO (o] FAET 7 = 2

(a) 5 (b) 6 (c) 7 (d) 14
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65.

66.

67.

68.

69.

70.

71.

(10)

Two-fifth of 100 km = ............... m

100 A0S 72 22T = ..o e

100 FERB™ G 2 AL = . Bk

(a) 4 (b) 40 (c) 400 (d) 4000

143.8 - 2000 = .............

(a) 0.1718 (b) 7.18 (c) 0.0719 (d) 0.0718

10sgm=............. sq mm

105 ™ = o of farfa,

(a) 10,000 (b) 1,000 (c) 10,00,000 (d) None of these
«abl8 7=/ 9He 7Y

Area of a rectangle is 200 sq m and the breadth is 5m. Then its perimeter s ............ m

@B SerFa] FifeT 200 I5f NHF I<E 279 2% 5 W, 7, 379 AR ..o o 231

G TTeeF@ FIfer 200 Iof G @R 227 &% 5 3. == 32 AR ... o 2@ |

(a) 204 (b) 90 (c) 205 (d) None
«abl8 7=/ 9He 7Y

If 20% of 60% of a number is 144, then the number is ..................

@Gl 5 60% T 20% F NI 114 =, AN oo |

a5 AT 60% @ 20% @F T 114 ZE A0 T o |

(a) 1200 (b) 2880 (c) 8640 (d) None of these
«abl8 T2/ 9He 7Y

3

In ZX+8:17 value of XiS ..ccvvvvnnnn..

%x+8=176 XTIV o

3

Zx+8=17 ANFAE X QF N o

(a) -12 (b) 36 (c) 12 (d) -36

In India the ratio of number of states to the number of Union Territories is ..............

CROIFS G AL S (FUIH TS 2T HLAT SAS ..o
IS AT L @8 (P #MBNO NLEET T AJAS ...
(a) 7:28 (b) 25:7 (c) 4:1 (d) None
aGre T=F/ashe TH
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72.

73.

74.

75.

76.

(11)

01,0001
001 01 .............................
(a) 10.1 (b) 1.10 © 1.01 @ 00

The ratio of incomes of kamala and Vimala is 2 : 3. If Kamala's income is '(c 9000 then
Vimala's income is '(c .............

AT I KA SIS FAT© 2 : 3 T FI SH 9000 bl =F, (O RN I ... 5 |
DA @ RN G AT 2 @ 3 I S SF 9000 BIpl B O [T O ... BI<eT |
(a) 13,500 (b) 6,000 (c) 12,000 (d) None of these

Qb8 T/ GBS

(a) >0°<90° (b) >90°<180° (c) >0°<270° (d) >0°<180°

If a,b and c are the sides of a triangle, then ...............
Tt a, b A ¢ @bl faeET AL 2, (OF .o |
T a, b @ ¢ @b TG L TF, OW oo |

(@) a-b>c (b) c>a+b (c) c=a+b (d) b<c+a

General Science / g <&@l / Aigige i

When an aeroplane takes off from the ground ...............

oA G TIrETRIeT Wb #[1 T A, (OfSq ©OF ... |

T G AR Hb (A THE T T 377 ..o |

(a) Kinetic energy increases and potential energy decreases
sifewife Qe o< FEfexfe s
sifo=ifie T Wk Ffoxife T

(b) Potential energy increases and kinetic energy remains constant.
e @il =i sifonife e Qe
Eio=ife 0T @R foxfe a2 A

(c) Both kinetic energy and potential energy remain constant
sifenifies eI FEfonifie Tox «ie Qi
sifoxfe a7t Ffonfe Tore vt A

(d) Both kinetic energy and potential energy increase
sifesifie o< fEfesife
sifowifie qag FEfoxife 0o
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77.

78.

79.

80.

81.

82.

(12)

The units of energy are the same as those of ..............

G G ... T G (0O A |

G QP .o G QIR ML @3 |

(a) Work (b) Force (c) Power (d) Acceleration
BRIk Bl ) ¥ / 999

The bat of a batsman in a game of cricket acts like the lever of the ...................
6 CIeTS (FERCITT @O feTelq f2Bite! I 7 |
&b (T AGAEER WO ... feTelx 2T Fer A |

(a) Firstclass (b) Secondclass (c) Third class (d) Fourthclass
ALY T IKSERCHIN v 59 @9
2 @ @y g SSIER RG] 59

The components required to make a simple series circuit to light a bulb are .............
e QB! TR 5109 B HIET (HAT TEAT GBI TENSAET BHAIRHAEN ..o
Q5 AT TGRS 519 T e @R TG A6 TP GAA ...

(a) Wire and cell (b) Cell and switch (c) Bulb and wires (d) Bothbandc
I S (OIS (BT IE 226 g IE O b =< ¢ T&x
I @92 (KO BT @8 2 T <R O b @< ¢ 1fbR

Which of the following does not contain a magnet in it ?
ST (IS pEF I ?
O (PGS HE A Al 2

(a) Radio (b) Torch (c) Fan (d) Bothaandb
Qieey 03 LIl a < b Tey
o 33 Raic) a @ b vfbE

A boy held a book of 1kg at a height of 1 metre for 60 seconds. Calculate the work done.
GG o' q1E 1 . 2 G&WT @ ol 1 fNGF There 60 (e AW L FIRE PR /e e 29|
@36 (2@ 1 P2l S @3io 72 1 FEIR SHOR 60 CIPESH Sy A AIET DI 2ARTT R ......

(a) 60 J (gD (b) 30 J (&) (c) 15 J (D) (d) 0J (&)
Metals are usually .............
GO HIKIFNCD ..o |
4o TS ........... |
(a) Good conductors of heat (b) Good conductors of electricity
S RISSIE] fRgreq poifarst
SRR GBS [BUCERRIERIS]
(c) Good elastic substances (d) All of these
- gore o IGIERED!
-g7fs Forp omig MEECRIIT
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83.

84.

85.

86.

87.

(13)

Name the instrument that measures the density of liquids.

(a) Hydrometer
RECEREE
RECEOE

(b) Ammeter

GIRGR
GIRIGE

A compound has
QRY TS ..o |

(a) Only one kind of atom
(T OF 4O Y A
BY G LR AN AP

(c) A mixture of elements and molecules
(T @i<E o o Qe
T @R R o e

(c)

(d)

Evaporation followed by condensation occurs in

.............................. T CFQO AR FS! 151 ek SF |

a3 (@ IPATTSIET AN TS TF |

(c)

(d) None of these
«bhe 2]
qfoe 7

Densitymeter

(e ibRGR
DIEITRIE

Only one kind of element
(T G GO (e QAT
BY G LR G A

Only one kind of molecules
(T @F L9 ] QM
WY O LR O AP

(a) Filtration (b) Sublimation
QISERE T (o
QIEEISC Teaimoq

In photosynthesis, the catalystis ..........cc.ccooeii.

AN HECATTS LGP (R o

HICETIE HLCEFCET TTLOF T

(a) Water
A/ Bl

(c) Chlorophyll
e / R

Water is a kind of .........................L. oxide

AN @R e SR

T G AP .o KBy

(a) acidic (b) basic
e RPN [ FES

Evaporation (d) Distilation
BliedliSNOl QIS
BliediiCaC QIS
Sunlight

[ (RS / [RS ACET]

Carbon dioxide

PRATIR-SHEG

neutral (d) metal

Y qreg / 4o
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88. Which of the following statements is true regarding the properties of air ?

I @R SRPIR O (PIE! B ey 2

R R SEPAIE S (PTG ey 2

(a) Itis a good conductor of electricity (b) Itis a a good conductor of heat
2 faqret o) ERCLE R GIERIE]
ERRNSEIMIENIE] BN R R RIESIS]

(c) ltistranslucent in nature (d) None of these
29 2Pphs (77 7 TR @bl R
T AFfO =T 2T TR a3fbe 7

89. All the plants require nitrogen for ......................

T G ... J M A12FS A

o] SReMe A2 ARG ... GERCDI

(a) reproduction (b) photosynthesis (c) transpiration (d) growth
ST SETIE LTI AT g

90. Which of the following is an edible stem ?

e (RPN 1S AW 2B RN BRI Al 2
vd & e 2o o W 2

91. Which of the following are energy-giving foods ?
S (I @ A Ay 2

N3 (Fefer wfewns 4w 2

(a) Groundnutand eggs (b) Eggs and milk
I e P > e SN
T @< o o @<g qy

(c) Soyabean and groundnut (d) Potatoes & rice
R = ] S HISe
TR @8 o] @< BT

92. In which part of India is jute grown ?
OO (P! SO TG TN B 2
SIRISIR (I S MG Teoly 27 2
(a) Assam (b) West Bengal (c) Bihar (d) All of these
ST SR e e RS NARE SGIRFLG! / FIPAD
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93. Which of the following contains parallel venation ?
OIS (NG AN Rt =iy 2
oA @FRibee ITrEE RRIfkeT @i 2
(a) Mustard (b) Cabbage (c) Banana (d) None of these
EIREEY BEIRCR Bl @ore T
A BIRIEIE | a3foe T
94. Tendrils are .....coceeevvevenennn.
Y QR oo
I T ..o
(a) stems modified to store food (b) stems modified into coiled wire
5 72 FIKCET TR @I P AN T RIS FIS
7y 26 FECO TS e TS IO FAEPRO 26T TS
(c) stems modified into prop roots (d) roots modified to perform photosynthesis
pfeT fRroritsT il (Il F1% TR RO A FATS (RIS FeT |
b1 Fisiice weigiae zew S AN AR &) B 6T I+
95. The outskin of a fruit is called .................
FoTq ARERETP T |
TR MR CITANCP oo @
(a) Mesocarp (b) Endocarp (c) seed (d) None of these
PRIESg [SCHe et @b\ 7RY / aFioe 77

96. In which of the following properties does an animal and a plant differ ?

ST CPINCT (AR &A1 e Sfgnss 5j9 (I 2

A (I AHIE 1 @ Tfow ojA =7 2

(a) Presence of organs (b) Growth
RN ACLIE( I
ENEEACES] SIET

(c) Reproduction (d) Synthesis of food
AG NILGIENCBR
AG RILGIENCBR

97. The walls of plant cells are made of a hard substance called ......................

TFOHT (PTAERT .o NS @iy Fo oML e |
S0 (IS e TR GFAF 1 21 7T 911 |
(a) glucose (b) cellulose (c) fructose (d) starch
8 Pt CbeTeTet FPOST A1/ =<
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98. In our body, carbon monoxide interferes with the transport of ....................

ST 2D oo q SRS TR TSR THEHF| (S |

AR * R o G AR FRT T SHZC TECH (A |

(a) carbon dioxide (b) ammonium sulphate
PR ©IE SIHEG G TR BIeTes
I TIR-IHZG G TR

(c) oxygen (d) hydrogen peroxide
Sl RS (TG
BlEeD] 2EGOH (PRHZT

99. About 50% of those who die with of following disease are smokers

TS Wl (IS 9 (R @I A 50%CHE YA 2

...................... CAMCE 395 RGN (I 50% LA |

(a) Tuberculosis (b) Lungcancer (c) Malaria (d) Polio
] 2IE-TNET I TR siferer
Bl FAFEE T R IGIEE] sifere

100. Which of the following non-flowering plants cannot synthesize food on their own ?
R (PN D1 Tfem e 1y eer (o] SR (IR 2
.......................... oo Tfgn e W1 foeT CouI S0 #{Ie 1 |
(a) Ferns (b) Fungi (c) Algae (d) None
QORI (o SIEY a5 R | a8 TN
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